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Correct Marks: 2 WrongMarks: 0



Peer group interaction in a classroom helps in

(1) Concept understanding
(2) Realization of One's misunderstanding
(3) Rapport Building
(4) Questioning
Options:
64635097939, 1
64635097940, 2

64535097941, 3
645350397342, 4

Question Number : 1 Question Id : 64635024953 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

a1 H Al o iR (e g sawan) @ e weg et 2 e

(1) HIGUON + A9 H

(2)  SATAT TAAEEHT Bl HEGH FA H
) Ay Faio (ur fafeem) |

@) wAYEAH

Options:

64535097939, 1
64535037340, 2
E4E35097941. =2
64535097942, 4

Question Number : 2 Question Id : 64635024954 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

When the learning outcomes of students are ensured with employment of less resources and
effort on the part of a teacher and more imitiative for self-learning 15 evident, which of the

following expression will describe the teacher most appropriately?

(1) Teacher 1s successful (2) Teacher is effective
(3) Teacher is intelligent (4) Teacher 1s practical
Options:

64535097342, 1
E4E35037944, 2
B4E35097945. 3
BAE3509794E6. 4



Question Number : 2 Question Id : 64635024954 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64535097943, 1
645350397944, 2
64535097345, 3
EAEZ5037394E, 4

Question Number : 3 Question Id : 64635024955 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Reflective Practice implies use of one’s

(1) Cognition (2) Metacognition
(3) Metacognition on cognition (4) Renforcement of learning
Options:

645350973947, 1
645350973458, 2
E4E35037949. 3
E4E350373950. 4

Question Number : 3 Question Id : 64635024955 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

B4E535097947. 1
6453503973948, 2
64535097349, 3
E4E350373950. 4

Question Number : 4 Question Id : 64635024956 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Inclusive education implies

(1) Ensuring learning outcome of every child to be the same
2 Including the disabled in the main stream

(3) Provides compulsory education for children below 14 years
(4) Ensuring that no child is left behind in education

Options:

4535097951, 1
64535097952 2
64535037353 2
64535037354 4

Question Number : 4 Question Id : 64635024956 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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4525097951,
64635097952,

E4E35097953.
BA535097954,
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Question Number : 5 Question Id : 64635024957 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Listening is important for a teacher to

(1) address the requurement of the learner

(2) gain knowledge

(3) keep the learner in good humour

(4) evaluate the learner for the progress made
Options:

64535097955, 1
6453503973956, 2
E4E35037957. 3
E4E35037958. 4

Question Number : 5 Question Id : 64635024957 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
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Options:

64535097955, 1
64535037356, 2
4835097357, 2
4535097358 4

Question Number : 6 Question Id : 64635024958 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

A hypothesis should be conceptually

(1) convoluted, complex and generic (2) complex, tough and general
(3) simple, clear and specific (4) obscure, complicated and simple
Options:

6453509739559, 1
64535037360, 2
64535097361, 3
E4E35097362. 4

Question Number : 6 Question Id : 64635024958 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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645350973955, 1
64535037360, 2
64535097361, 3
EAEZ5097962. 4

Question Number : 7 Question Id : 64635024959 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



During research, while recording observations if an observer rates an individual based on
the rating given in another aspect of the interaction, this 1s termed as the

(1) Evaluation effect (2) Error of central tendency
(3) Halo effect (4) Categorical effect
Options:

6453503973963, 1
64535097364, 2
EAEZ50373965. 3
EAE35097966. 4

Question Number : 7 Question Id : 64635024959 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

E4E35097963. 1
64535097964, 2
645350397365, 3
E453509736E. 4

Question Number : 8 Question Id : 64635024960 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The study of ‘why does stressful living result in heart attack’? Can be classified as

(1) Descriptive research (2y Explanatory research
(3) Correlational research (4) Feasibility research
Options:

64535097367, 1
EAE35037968. 2
E4E35097969. 3
BAE35037970. 4

Question Number : 8 Question Id : 64635024960 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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EAE35097967. 1
B4535037968. 2
B45350973645. 3
645350373970, 4

Question Number : 9 Question Id : 64635024961 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
The formulation of a research problem can be compared to

(1) Laying the foundation of a building (2) Bulding the walls of a home
(3) Polishing the doors of a building (4) Constructing the ceiling of a house

Options:

4535097971, 1
4535097972 2
64535037373 2
64535037374, 4

Question Number : 9 Question Id : 64635024961 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Terefl stre woear < Ao i qen e s S aeRdt 27

(1)  ¥a §i Hig grem | (2) "t fan & Fatu o
(3) WA & gETel | s w3 (4) wFA i J9 F FEiod
Options:

B4E535097971. 1
B4535097972. 2
645350397973, 3
EAE35037974. 4

Question Number : 10 Question Id : 64635024962 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Mailed questionnaire, observation, interview and collective questionnaire are instances of

(1) Secondary sources (2) Personal sources
(3) Primary sources (4) Tertiary sources
Options:

64535097975, 1
645350373976, 2
E4E35097977. 3
EAE35037978. 4

Question Number : 10 Question Id : 64635024962 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

435097975, 1
64535097976, 2
4535097977, 5
64535037378, 4

Sub-Section Number: 2
Sub-Section 1d: 6463501229
Question Shuffling Allowed : Yes

Question Id : 64635024963 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (11 to 15)
Juestion Label - Comprehension

A business will usually go through a clear set of stages that will make up 1ts orgamsational
life cycle. These stages include introduction, early growth, continuous growth, maturity and
decline. The first stage, the introduction stage, i1z the start-up phase where a business
decides what its core strengths and capabilities are and starts selling its product or service.
At this early stage, the founder or founders will be a part of every aspect of the daily process
of the business. The main goal at this stage is to take off to a good start and make a place in
the market.

The next stage, the early growth phase, aims at increased sales and more development. The
focus at this stage remains on the original product or service but the effort 1s to increase the
market share and venture into related products or services. The main goal is to move the
founder to a more managerial role so more time is spent on managing and building the
business. At this stage, documents and policies need to be developed so any member of the
organisation can see the business any time.

The third stage, the continuous growth stage, requires a systematic structure and more
formal relationships among its participants. At this stage, the resource requirements of the
business need careful handling. The focus 18 on the expansion of the business, keeping in
mind its core strength and capability. A formal organisational structure and a clear
delegation plan are important at this stage.

At the fourth stage of maturity, a business often slows down as the level of innovative energy
may have become weak and the formal structures may have become obstacles. A lot of care 1s
required to prevent decline.

Sub questions

Question Number : 11 Question Id : 64635024964 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



When will a business create its place in the market?

(1) At maturity (2) At introduction
(3) At early growth (4) At late growth
Options:

E4E3509789759. 1
EAE35037980. 2
E4E35097981. 3
BAE3509798%. 4

Question Number : 12 Question Id : 64635024965 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
The founder of a business does not move to a more managerial role at which stage?

(1) Early growth stage (2) Maturity stage
(3) Decline stage (4) Start up stage
Options:

6453503973983, 1
E4E35037984. 2
EAE35037985. 3
EAE35097986. 4

Question Number : 13 Question Id : 64635024966 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Venturing into related products and services does not mean that a business will

(1) 1gnore the original product

(2) move the founder to a more managerial role
(3) delegate more responsibilities

(4) ignore the related products and services

Options:

4535097987, 1
64535097988, 2
64535037389, =
64535037330, 4

Question Number : 14 Question Id : 64635024967 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The resource requirements of a business need careful handling at which stage?

(1) Fourth (2) First
(3) Third (4) Second
Options:

E4E35097991. 1
EAE35097932. 2
B4535097983. 3
6453503979394, 4

Question Number : 15 Question Id : 64635024968 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The slowing down of a business can happen if,

(1) there is a decline in the market share
(2) the level of innovative energy weakens
(3) the managerial roles are not clear

(4) the level of investment declines

Options:

64535097995, 1
E4E350397996. 2
64535097997, 5
64535097998, 4

Question Id : 64635024963 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (11 to 15)
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Sub questions

Question Number : 11 Question Id : 64635024964 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535097979,
64535097380,
64835097981,
4535097382,
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Question Number : 12 Question Id : 64635024965 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535097983, 1
48350979324, 2
4535097385 2
64535027986, 4

Question Number : 13 Question Id : 64635024966 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

4535097987, 1
64535097988, 2
64535037389, =
64535037330, 4

Question Number : 14 Question Id : 64635024967 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

E4E35097991. 1
EAE35097932. 2
B4535097983. 3
6453503979394, 4

Question Number : 15 Question Id : 64635024968 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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64535097995, 1
64535097996, 2
64535097997, 5
64535037398, 4

Sub-Section Number: 3
Sub-Section Id: 6463501230
Question Shuffling Allowed : Yes

Question Number : 16 Question Id : 64635024969 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Semantic barrier of communication 1s implied when the

(1) signal is lost before reaching the receiver

(2) message transmitted by the source 1s unclear

(3) receiver's attention is diverted

(4) receiver does not understand the meaning of the message
Options:

64535097999, 1
E4E35038000. 2
E4E35038001. 3
BAE3503800%Z. 4

Question Number : 16 Question Id : 64635024969 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64535097999, 1
4825032000, 2
4535092001, 2
64535038002, 4

Question Number : 17 Question Id : 64635024970 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which of the following signifies non-verbal communication in an essential way?

(1) Instructions written on a question paper

(2) Learner attending an online class

(3) The dress code followed by an individual

(4) Yoga instructor teaching yoga poses to the pupils

Options:
435035003, 1

E4E35038004, 2
E4E35038005. 3
EAE35098006. 4

Question Number : 17 Question Id : 64635024970 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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4525095002 1

E4E35038004. 2
E4E35098005. 3
E4E535038006. 4



Question Number : 18 Question Id : 64635024971 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Asszertion (A) : Communication presupposes a shared, symbolic environment, a social
relationship even among non-participants

Reason (R): It leads to social interaction, which in combination with other factors
contributes to a sense of community.

Choose the correct option given below :

(1) Both (A) and (R) are true and R 1s the correct explanation of A
(2) Both (A) and (R) are true but R is not the correct explanation of A
(3) (A) 1g true but (R) 1s false

(4) (A) 1s false but (R) is true
Options:
64635098007, 1
435098008, 2
E4EZE0920059. 2
4235093010, 4

Question Number : 18 Question Id : 64635024971 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535093007, 1
E4E3S5032008. 2
E45350938009. 5
64535038010, 4

Question Number : 19 Question Id : 64635024972 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the following 1s a stage of intrapersonal communication?

(1) Phatic stage

(2) Intimate stage

(3) Personal stage

(4) Transcendental communication

Options:
4535095011, 1

E4EZ5038012. 2
E4E35038013. 3
E4535038014. 4

Question Number : 19 Question Id : 64635024972 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

fefeiga § o =9 s=rdafaas Uy &1 us =y 27

(1) IS =0T

(2)  AFqur =L

@)  dafEs =

(4)  SEEHiEE FEE
Options:

E4E35098011. 1
E4E35098012. 2
64535038013, 3
64535035014, 4

Question Number : 20 Question Id : 64635024973 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following 1s a characteristic of modern mass media?

(1) Capital intensive (2) Labour intensive
(3) Sustainable (4) Developmental
Options:

64535098015, 1
64535038016, 2
64535095017, 3
E4EZ50398015. 4



Question Number : 20 Question Id : 64635024973 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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645350938015, 1
E4E3503801E. 2
E4E35038017. 3
E4535038015. 4

Question Number : 21 Question Id : 64635024974 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

If RED 1s coded as 6720, then how would GREEN be coded?

(1) 16717209 (2) 1677209
(3) 9207716 (4) 1677199
Options:

645350980145, 1
64535038020, 2
645350398021, 3
EAE35038022. 4

Question Number : 21 Question Id : 64635024974 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) 16717209 (2) 1677209
(3) 9207716 4) 1677199
Options:

64535093019, 1
E4EZ5038020. 2
E4E35098021. 3
BAE35038022. 4



Question Number : 22 Question Id : 64635024975 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

If 0.75 2 = 0.02 y, then the value of [T_x] is

Y+ X
73 75
1 = oy e
@ 75 @ T
73 730
3 —= |t
(3) = (4) 75
Options:

E4E35098023. 1
B4E35038024. 2
64535038025, 3
E453509502E. 4

Question Number : 22 Question Id : 64635024975 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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73 730
3 — 7, 1 =
©) T7 @ 1D
Options:
64535098023, 1
64535038024, 2
648350398025 2
4535092026, 4

Question Number : 23 Question Id : 64635024976 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

If the average of five numbers 18 —20 and the sum of three of the numbers 15 32, then what 1s
the average of the other two numbers?

(1) 66 (2) 33
(3 34 4 -132
Options:

64535038027, 1
E4E3503802E. 2
EAE350398029. 3



EAE35038030. 4

Question Number : 23 Question Id : 64635024976 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

gfe gie STl 1 SAida —20 2, A7 FH 8§ fF et & 9 32 #, 91 999 &1 Gl # AEd 3491
27

1 66 (2) -33
@ -84 @ -132
Options:

64535038027, 1
64535098028, 2
E4EZ5038029. 3
E4E35098020. 4

Question Number : 24 Question Id : 64635024977 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

A man travelled from the village to the railway station at the rate of 20 Kmph and walked
back at the rate of 5 kmph. If the whole journey took 5 hours, find the distance of the raillway
station from the village.

(1) 10 km (2) 15km
@) 20km (4) 40 km
Options:

64535098021, 1
64535098032, 2
E4E35038033. 3
E4E35038024. 4

Question Number : 24 Question Id : 64635024977 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

F1E =Afqa ma & Iag €29H F A 20 kmph 81 F Far 2 au a9y 5 kmph # 20 & e 21 3@
=Y AT H 3 5 uE W 2, o M ¥ td 22w i gft wma fifsig |

(1) 10km (2 15km
(3) 20 km (4) 40 km

Options:

64535033031 1

E4E25038032. 2

E4E25038033. 2

64535038034, 4

Question Number : 25 Question Id : 64635024978 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



A trader mixes three varieties of refined oil costing Rs. 100, Rs. 40 and Rs. 60 per litre in the
ratio 2 : 4 : 3 in terms of litre, and sells the mixture at Rs. 66 per litre. What percentage of
profit does he make?

(1) 12% (2) 10%
(3) 9% 4) 8%
Options:

645350398035, 1
E4E35038036. 2
EAE35038037. 3
E4E35098028. 4

Question Number : 25 Question Id : 64635024978 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

s M 100 &., 40 & a9 60 . ufd e i ara gt 7 9wR & {iwEee ad & e & 1g |
2:4:3 Fud # e 2 A 3u feor #9166 &, ufa ofier i g & S=ar 21 30 feaq wfowa &1 amw

g1 27
(1) 12% (2 10%
(3) 9% @) 8%

Options:

64535098035, 1
64535038036, 2
64535038037, 2
E4E3503920328. 4

Question Number : 26 Question Id : 64635024979 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

No Musicians are Japenese
All Barbers are Musicians

No Barbers are Japenese
Identify the Middle Term in the above syllogism

(1) Subject in the first premise and predicate in the second premise
(2) Predicate in the first premise and subject in the second premise
(3) Predicate in the both premises

(4) Subject in both the premises

Options:



E4E35098029. 1
64535038040, 2
64535038041, 3
64535035042, 4

Question Number : 26 Question Id : 64635024979 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
FIS TR ST 2 2 |
aaft A1 wfiaen £
F13 A8 S A 2 |
IE{F rared | "eAus 6l ugee i
(1) 92 19r a&g J Fdl A1 gt e a | a9
(2)  UEe A9R aEd i e ot gul enaw A o i
(3)  2Fi wnar aEdl d faga
(4)  @FT A19E FEEl H Fi

Options:

64535098039, 1
E4E35032040. 2
4535092041, 2
64535028042, 4

Question Number : 27 Question Id : 64635024980 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Inductive argument proceeds from

(1) Unuversal to Particul ar
(2) Particular to Universal
(3) Universal to Universal

(4) Particular to Particul ar

Options:

645350938043, 1
E4E35032044, 2
E4535095045. 5
64535028046, 4



Question Number : 27 Question Id : 64635024980 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

HANTHATHS o (8 78 399 21 27

(1)  =ewtfEs o fafsmee
(2)  fafve o geEwims

@)  adifEe & o
(4)  fafse o fafsw

Options:
4535095043 1

E4E35038044, 2
E4E35038045. 3
E4E53503804E. 4

Question Number : 28 Question Id : 64635024981 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Among the five friends, Vineet 1s taller than Momka, but not as tall as Ram. Jacob 1s taller
than Dalip but shorter than Monika. Who is the tallest in their group?

(1) Ram

(2) Monika

(3) Vineet

(4) Jacob
Options:

E4E35098047. 1
B4535038048. 2
64535035049, 3
64535035050, 4

Question Number : 28 Question Id : 64635024981 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



e gl ¥ fada aife o aven 2 cfes o e @ AF 21 S gefiv 8 dan 2 iR Al o
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(1) ™

@ =
(3) ferdia
CV

Options:

4835098047, 1
4535092048, 2
64535028049, o
64535098050, 4

Question Number : 29 Question Id : 64635024982 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Consider the example given below :
Devadatta i1s growing fat.
He does not eat food during the day.
Therefore, He must be eating food during the night, other things being equal.

Identify the logic invelved in the example provided above by choosing the correct answer
from options given below :

(1) Arthapatti (2) Anupalabdi
(3) Anumana (4) Sabda
Options:

E4E35098051. 1
E4E35098052. 2
E4535038053. 3
64535035054, 4

Question Number : 29 Question Id : 64635024982 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



=1 fou sgrem w foEm i

gae |l 21 @ 2|
oe fea o g 421 | 2
T,
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(1) A4 (2) wuafey
(3)  FHA (4) =g

Options:
4235092051, 1

E4E350398052. 2
E4535038053. 3
E4535038054. 4

Question Number : 30 Question Id : 64635024983 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Consider the argument provided below :

“Sound 1s permanent because it 1s a product hike the jar”.

Identify the fallacy involved in the above argument on the basis of Indian logic from the
options given below.

(1) Fallacy of contradictory reason (2) Fallacy of wrong assertion
(3) Fallacy of irrelevant reason (4) Fallacy of trivial reason
Options:

645350398055, 1
E4E3503805E6. 2
EAE35038057. 3
E4E35098058. 4

Question Number : 30 Question Id : 64635024983 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



fi=1 fau @ o femm Hifsg
e curlt & HdifE 98 s i @E A I E,
A= w71y, forepcedi @ WA deh < SArar 9t 3udad a H [iza amean i gg=e fifs;

(1)  faame aF arer garys (2) HaE ANFE ¥ SR gayE
(3)  AWAg T B gATHN (4) q=8 9% B U
Options:

B4535098055. 1
64535038056, 2
645350938057, 3
E4EZ509805E. 4

Sub-Section Number: 4
Sub-Section 1d: 6463501231
Question Shuffling Allowed : Yes

Question Id : 64635024984 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (31 to 35)
Cuesticon Label | Comprehiension

Consider the following table that shows the production of fertilizers by a company (n 10000
tonnes) during the year 2011 to 2018.

Answer the questions based on the data contained i1n the table :

Year : 2011 | 2012 | 20183 | 2014 | 2015 | 2016 | 2017 | 2018
Production of Fertilizers : 35 50 70 55 = 60 85 90
Sub questions

Question Number : 31 Question Id : 64635024985 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In how many of the given yvears was the production of fertilizers more than the average
production of the given years?

€ 2 2) 8
@3 4 @ 5
Options:

E4E350398059. 1
E4E535038060. 2



EAE35038061. 3
EAE35038062. 4

Question Number : 32 Question Id : 64635024986 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

What was the percentage decline in the production of fertilizers from 2013 to 20147

(1)  20.4% (2) 21.4%
3)  22.6% @) 24.2%
Options:

E4E35098063. 1
64535038064, 2
64535038065, 3
E453509506E. 4

Question Number : 33 Question Id : 64635024987 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

What was the approximate percentage increase in production of fertilizers in 2018 compared
to that in 20117

(1) 157% 2) 165%
(3) 177% 4) 182%
Options:

B4E35098067. 1
64535038068, 2
64535095069, 3
EAEZ5038070. 4

Question Number : 34 Question Id : 64635024988 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In which year, the percentage increase 1n production as compared to the previous vear was
maximum?

(1) 2012 (2) 2013
(3) 2015 (4) 2018
Options:

645350398071, 1
E4535098072. 2
E4EZ5098073. 3
EAE35038074. 4

Question Number : 35 Question Id : 64635024989 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

The average production of 2012 and 2013 was exactly equal to the average production of
which of the following pairs of vears?

(1) 2011 and 2012
(2) 2011 and 2017
(3) 2012 and 2014
(4) 2015 and 2016

Options:

64835098075, 1
E4E35092076. 2
64535038077, o
64535038078, 4

Question Id : 64635024984 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (31 to 35)
Juestion Label | Comprehension

f=fcfiga arfaen w femm Sifse, St ad 2011 - 2018 @ sfte &9 % 39 I9EA (10000 27) I g9riarn
2

ay 2011 | 2012 | 2013 | 2014 | 2015 | 2016 | 2017 | 2018

33TH FI IEA a5 50 70 55 75 60 85 90

Sub questions

Question Number : 31 Question Id : 64635024985 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

feu mu fera &Nt § 3R 1 3cq1eq fu o ant & e Icaed o Afeew ar?

(2 & a8
(3) 4 @ 5

Options:

64535098059, 1
64535038060, 2
64535038061, =
4835038062, 4

Question Number : 32 Question Id : 64635024986 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

2013 % 2014 9% 34T F 3c9eA H Tora gfavia Trmae i ?

(1)  20.4 vfas@ (2) 21.4 gfdwE
(3) 22.6 Ffawrd (4) 24.2 yfawE

Options:

64535098063, 1
E4E350920684, 2
4535035065, 5
4535038066, 4

Question Number : 33 Question Id : 64635024987 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

2 2018 <1 g1 | A 2011 § 36Tl + IeUreT | gig = wfdera s e on?

(1) 157% (2) 165%
(3) 177% (4) 182%

Options:

64535098067, 1
4835038068, 2
4535092089 2
4535038070, 4

Question Number : 34 Question Id : 64635024988 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

fore = 4 3carga | gfg @ ufdwd fea ara $i gamn d safteras or?

(1) 2012 (2) 2013
(3) 2015 4 2018

Options:

64535098071, 1
64535038072, 2
4835038072 2
4535092074, 4

Question Number : 35 Question Id : 64635024989 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



fFeferfiga awl % gra | O fror Sdd 3caed | 2012 R 2013 % iHd IemeA & faoge gam ar?

() 2011 @R 2012
(2 2011 R 2017
(3) 2012 %N 2014
4 2015 #N 2016

Options:

64535098075, 1
64535038076, 2
645350338077, 2
4835032078 4

Sub-Section Number: 5
Sub-Section 1d: 6463501232
Question Shuffling Allowed : Yes

Question Number : 36 Question Id : 64635024990 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Match the following :
Set I Set 11
(a) First Generation (1) Transistor
(b) Second Generation (11) VLSI microprocessor
(c) Third Generation (1) Vacuum tube
() Fourth Generation (1v) Integrated circuit

Select the correct option from the following :

(a) (b) (© (d)

(1 @) ) @ (11)
@ () (1) av) (11)
3 () (1) (1) ()
@ @ (i11) @) (i1)
Options:
64635098079, 1

E4E35038020. 2
EAE35038081. 3



EAE35038082. 4

Question Number : 36 Question Id : 64635024990 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

feffiga =+ gafaa fifsw
e ol e - 10
(@ s @ glisteet
b  fedi did (i) al Ut U 15 WIS

(€ g e (iii) IHH 2
(d)  =neft figt (iv) zémfez ufdz
Ferferfiga 9 @ @& 391 1 =@A Fieo

(a) (b) ©) (d)

@ ) av) @) (1)
@ @ @ (1v) (1)
@ @) @ 1) av)
@ o (111) (1v) (1)

Options:
E4EZE098079.

EAEZS0398050,
EAE350398051.
BAE35098082,

[ N

Question Number : 37 Question Id : 64635024991 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
One TeraByte (TB) of memory is equal to

(1) 1024 KB

(2) 1024 x 1024 KB

(3) 1024 x 1024 x 1024 KB
4) 1024 x 1024 x 1024 Bytes

Options:



EAE35098083. 1
E4535038084. 2
E4535038085. 3
64535038056, 4

Question Number : 37 Question Id : 64635024991 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

U aEEe (TB) 99 feas aqH 27

(1) 1024KB

(2) 1024 x 1024 KB

(3) 1024 x 1024 x1024 KB
(4 1024 x 1024 %1024 Bytes

Options:
4525095083 1

EAE35038084. 2
E4E35098085. 3
EAE35038056. 4

Question Number : 38 Question Id : 64635024992 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

A/An 18 a computer program that spreads by inserting copies of itgelf into other
executable code or documents.

(1) Operating System (2) Computer Virus
(3) Firewall (4 Anti-virus
Options:

EAE35098087. 1
64535038088, 2
B4E535038089. 3
64535035030, 4

Question Number : 38 Question Id : 64635024992 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535098087, 1
4835038088, 2
45350920289 2
64535038090, 4

Question Number : 39 Question Id : 64635024993 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In Audio and Video compression, the term RGE means

(1) Red, Grey, Blue (2) Red, Green, Blue
(3) Red, Green, Black (4) Red, Grey, Black
Options:

6453503980391, 1
E453509503z2. 2
E4E35038033. 3
E4E350398034. 4

Question Number : 39 Question Id : 64635024993 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Atz «dh difzdr Fvw & ROB 1 wAfiuy 2

(1) &, 4, s (2) &, ¥H,sq
(3) g, i1, =iF 4) g, 7, =i

Options:

4535093091, 1
64535098092, 2
64535038093, =
64535038094, 4

Question Number : 40 Question Id : 64635024994 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which of the following 1s not a’an web browser?

(1) Internet Explorer (2) Mozilla Firefox
(3) (Google chrome (4) Yahoo
Options:

E4E350398085. 1
E4E350380396. 2
E4E350398097. 3



EAE350398038. 4

Question Number : 40 Question Id : 64635024994 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

F=fafiaa | 9+ a9 J1Een A8 27
(1) 326z = (2) HIRTAT $PR FiaE
(3) T B @ IR

Options:

64535098095, 1
64535038096, 2
64535033097, 2
E4E3503920398. 4

Question Number : 41 Question Id : 64635024995 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The target set by Indian government for generating power from wind energy by the vear
2022 is

(1) 60 GW (2) HB0GW
(3) 40 GW 4) 15GW
Options:

B45350980545. 1
64535035100, 2
645350395101, 3
E4E35098102. 4

Question Number : 41 Question Id : 64635024995 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

A 2022 a4 95 Fo01 U foeTel 3001 F1 % ol Ui 50RE A 9491 aey Haifia frar 27

(1) 60 GW (2) 50GW
(3) 40 GW @) 15GW

Options:

4535098099, 1
64535098100, 2
64535038101, =
64535033102, 4

Question Number : 42 Question Id : 64635024996 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

Which pollutant i1s the major source of marine pollution?

(1) Agricultural run-off
(2) Oil spill

(3) Industrial waste water
(4) Sewage

Options:

4535095103 1
64535028104, 2
64535038105, =
64535035106, 4

Question Number : 42 Question Id : 64635024996 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

TN TG TG SET ] HelH ST Hi 27
1)  FN AvEE

2 9 fmE

(3)  lenfies s S

4)  dHes

Options:

64535098103, 1
48350398104, 2
4535092105 2
64535028106, 4

Question Number : 43 Question Id : 64635024997 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Permafrost 1s defiming characteristic of which biome?

(1)  Taiga (2) Tundra
(3) Grassland (4) Desert
Options:

E4E535098107. 1
64535098108, 2
645350395109, 3
64535095110, 4

Question Number : 43 Question Id : 64635024997 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

eI fopm arg <6 fasian <1 saman 27
(1) &m @) T
(3) = % HgH (4) TSR

Options:

4535098107, 1
64535098108, 2
64535035109, =
64535035110, 4

Question Number : 44 Question Id : 64635024998 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The mangroves exist in

(1) Fresh water system (2) Temperate areas
(3) Semi-arid areas (4) Saline waters
Options:

E4E35098111. 1
E4535098112. 2
E4535098113. 3
64535095114, 4

Question Number : 44 Question Id : 64635024998 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Fed aEdTd FaEl Hadt 27
(1)  are S gomedt (2) HamET
@) ALY AT (4) @ S

Options:

64635098111, 1
64535038112, 2
64535038113 =
4835098114 4

Question Number : 45 Question Id : 64635024999 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Chemical oxygen demand in eutrophic water is

(1) Low
(2) High
(3) Medium

(4) Extremely low

Options:

64635098115, 1
648350398116, 2
4535098117, 5
64535098118, 4

Question Number : 45 Question Id : 64635024999 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Perfeer Sict | Ffbepar waradts <l | St 2-

1 =

(2) I

(3) HETH

(4)  felopet HH

Options:

64635098115, 1
648350398116, 2
4535098117, 5
64535098118, 4

Question Number : 46 Question Id : 64635025000 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
In which era given below, ligher education in India got a set back?

(1) British Era (2) Buddhist Era
(3) Mughal Era (4) Post-Independence Era
Options:

645350958119. 1
E4E35098120. 2
E4E35098121. 3
BAE35098122. 4



Question Number : 46 Question Id : 64635025000 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

A= feu U e i | W | R 0 geR e
(1)  fafen == (2) @ig
3) g FA (4) EETEA HA

Options:
452509511591

E4E35098120. 2
E4E35098121. 3
BAE35098122. 4

Question Number : 47 Question Id : 64635025001 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

In which year the modern Indian University got established?

(1) 1957 (2) 1857
(3) 1947 4) 1964
Options:

645350958122, 1
E4E35098124. 2
E4E35098125. 3
EAE35098126. 4

Question Number : 47 Question Id : 64635025001 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

g widl feafearra € e fee o | 237

(1) 1957 (2y 1857
(3) 1947 4) 1964
Options:

B4535098123. 1
64535095124, 2
645350958125, 3
E4E3509812E6. 4

Question Number : 48 Question Id : 64635025002 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The report of which of the following Education Commissions carries the sub-title Education
for National Development’?

(1) Radhakrishnan Commission
(2) Mudaliar Commission
(3) Calcutta University Education Commission
(4) Kothart Commission
Options:
645350981271
64635098125, 2

645350958129, 3
6453503958130, 4

Question Number : 48 Question Id : 64635025002 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Frafafaa @ & T foem s 6t § swis e famm & fou far g mran?
(1)  TIEFH SATE
2)  wefeEm s
(3)  waIwl favaiageE g Ame
4)  FIBR A

Options:
E4EI5035127.

E4E3509812E.
EAE35098129.
E4E35098130.
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Question Number : 49 Question Id : 64635025003 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The expansion of SANKALP 1s,

(1) Sanskrit Awareness and Knowledge Acquisition of Language Programme
(2) Skills Acquisition and Karatae Awareness for Livelithood Promotion

(3) Skills Acquisition and Knowledge Awareness for Livelihood Promotion

(4) Sanskrit Awareness and Knowledge Acquisition for Livelihood Promotion

Options:

64535098131, 1
64535038132, 2
64835098122 2
4535092124 4



Question Number : 49 Question Id : 64635025003 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

SANKALP I fa%ar 2
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Options:

4635098151, 1
64535098132, 2
64535038133 2
64535035134, 4

Question Number : 50 Question Id : 64635025004 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which of the following statements best explains the concept of sustainable development?

(1) Use of natural resources minimally
(2) Use of natural resources for our benefit
(3) Use of natural resources judiciously o that they are available for future generations
(4) Preserve our natural resources for our future generation
Options:

E4E35098135. 1
E4E350398136. 2
E4E35098137. 3
6453509581358, 4

Question Number : 50 Question Id : 64635025004 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535098135, 1
48350398136 2
4535098127, 2
64535028128, 4

PART II Cornparative Literature

Section Id :

Section Number :

Section type:
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Number of Questions:

Number of Questionsto be attempted:
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Group All Questions:
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646350502
2
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1
6463501233
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Question Number : 51 Question Id : 64635025005 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0



Which of the following are the dialects of “Paschimi Hindi’?
(a) Brajbhasha

(b) Bangroo
(¢) Avadh
(d) Kaurawvi

Select the correct answer from the options given below :
1. (a)and (c) only
2. {c¢)and (d) only
3.  (a), (b), and (d) only
4. (a)and (d) only

Options:

64535098139,
64535093140,
64535095141,
4835093142,

[ N

Question Number : 51 Question Id : 64635025005 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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3. &9d(a), (b) 3R (d)
4. a9 (a) MR (d)

Options:



E4E35098139. 1
645350958140, 2
64535095141, 3
645350395142, 4

Question Number : 52 Question Id : 64635025006 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

According to Buddhadeva Bose, which of these were the thrust areas within
Comparative Literature inits early years in India?

(a) Persian literature

(b) Bengali literature

(¢) Western literatures

(d) Sanskrnt literature

The right combination 1s :
1. (a)and(b)only
2. (a), (b)and{c) only
3.  (b),{c)and(d) only
4. (b)and (d) only

Options:

64535098143, 1
4535098144, 2
64535095145, 5
64535098146, 4

Question Number : 52 Question Id : 64635025006 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535095142, 1
E4E35098144. 2
B45350958145. 3
E45350958146. 4

Question Number : 53 Question Id : 64635025007 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The canonization implicit in the concept of World Literature can rule out the pioneering
or challenging writer. Who among the following was NOT picked up to get a Nobel
Prize despite his pioneering work?

1.  Rabindranath Tagore
2. Emile Zola
3. Sinolair Lewis

4, Knut Hamsun

Options:

64535098147, 1
64535033148, 2
64835092149 2
4535095150, 4



Question Number : 53 Question Id : 64635025007 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64535098147, 1
64535035148, 2
4835098149 2
4535092150 4

Question Number : 54 Question Id : 64635025008 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Who among the following linked the understanding of literature to its
phenomenological dimension?

1.  Ferdinand de Saussure
2.  Maurice Merleau-Ponty
3.  Paul Van Tieghem

4.  Eugene Nida

Options:

4835098151, 1
4535098152, 2
64535098152,
64535098154, 4

Question Number : 54 Question Id : 64635025008 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535098151, 1
64535038152, 2
64835098152 =2
4535092154 4

Question Number : 55 Question Id : 64635025009 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Who among the following 1s associated with the Annales School?

1.  Fernand Braudel
2.  Georges Lefebre
3.  Hyppolyte Taine
4. Augustine Cochiu

Options:

64635098155, 1

64635098156, 2

64535098157, 3
645350395158, 4

Question Number : 55 Question Id : 64635025009 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Frofeed 3 9 ®F THiy S’ 9 9aiid 87
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Options:



E4535098155. 1
64535098156, 2
64535098157, 3
645350395158, 4

Question Number : 56 Question Id : 64635025010 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which of these inscirptions attests to the shift in state culture to Sanskrit?
1.  The Kalinga Edict of Ashoka

2. The Junagadh Rock Inscription of Rudradaman I
3. The Hathigumpha Inscription of king Kharavela

4.  The Madhainagar Inscription of Vijaya Sen

Options:

64535098159, 1
64535098160, 2
64535038161, =
64535033162, 4

Question Number : 56 Question Id : 64635025010 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Fafeied § § -1 R I WREid &1 955d & Wid S ® THIG S g7
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2. THGH WYH & SENTG Raa
3. 7o ERAd H1 s Reee
4. fa5@ 39 1 AR REaE

Options:

64535095159 1
64535028160, 2
64535098161, 5
64535035162, 4

Question Number : 57 Question Id : 64635025011 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



The antiquity of Bengali literature was pushed back due to
1. the discovery of Mymensingha Geetika

2. the creation of a professorship in Bengali at the University of Calcutta
3.  the discovery of the Charyapadas

4.  the discovery of the inscription of Sasanka of Gaur

Options:

64535098163, 1
64535035164, 2
648350398165 2
4535098166, 4

Question Number : 57 Question Id : 64635025011 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64535098163, 1
64535038164, 2
64535038165, =
E4E350395166. 4

Question Number : 58 Question Id : 64635025012 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Arrange these novels in their order of publication :
(a) Durgeshnandini

(b) Indulekha
(¢) Godaan
(d) Swultana’s Dream

The correct chronological sequence

L (a),(c), (b), (D)
2. (c), (d), (b), (&)
3. (a),(b),(d), (©)
4. (d), (D), (@), ()

Options:

64535098167, 1
E4E3503816E8. 2
4535098169 2
64535028170, 4

Question Number : 58 Question Id : 64635025012 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535098167, 1
4835038168, 2
4535098169 2
64535028170, 4

Question Number : 59 Question Id : 64635025013 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following had its roots in the study of the Bible but was transformed from
the enlightenment onwards into a wider theory of interpretation?

1.  Existentialism
2. Empiricism

3. Idealism

4. Hermeneutics

Options:

4535098171, 1
64535098172 2
64535038173 2
64535033174, 4

Question Number : 59 Question Id : 64635025013 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Fufafed # 4 foger Ha asfid & siems # o1 g 98 vElY gi & Ui Fdes &
OIS ST RIgid H Sqa Tar?

1. oifRrEarg

2. 3gHEATG

3. YIUEr

4. RarfHmEE

Options:

64835098171, 1
E4E35098172. 2
64535098172,
64535038174, 4

Question Number : 60 Question Id : 64635025014 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Hans Robert Jauss criticized Marxist literary historiography, because
1.  he opposed the concept of class struggle

2. he felt it reduced literature to an epiphenomenon of ‘real” history
3. it had a teleology ending in a classical age of National Literature

4. 1t could not relate literary devices to social history

Options:

64535098175, 1
645350338176, 2
48350398177, 2
64535098173, 4

Question Number : 60 Question Id : 64635025014 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64635098175, 1
48350398176, 2
64535098177, 5
64535098178, 4

Question Number : 61 Question Id : 64635025015 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Who among the following has highlighted the importance of orality for the study of
literature?

1.  Fernand Baldensperger
2. Milman Parry
3. 8. S. Prawer

4. Hans Georg Gadamer

Options:

64535098179, 1
64535038180, 2
648350981281, 2
4535092122, 4

Question Number : 61 Question Id : 64635025015 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64835098179, 1
4535092120 2
64535028181,
64535098182, 4

Question Number : 62 Question Id : 64635025016 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Identify the histories of science fiction in the following list :

(a) The archaeology of knowledge

(b) Archaeologies of the future

(¢} Red planets

(d} Red star

The right combination

1.
2.
3.

4.

Options:

E4E35098183.
B4535098154.
E4535098185.
645350398186,

Question Number

(a) and (d)
(a) and (b)
(b) and (c)

(b) and (d)

[ N

1 62 Question Id : 64635025016 Question Type: MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0
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1. (a)3R(d)
2. (a) 3R (b)
3. (b) 3R (c)
4. (b) 3R (d)
Options:

64535098183, 1
645350395184, 2
64535095185, 3
E4E35038186. 4

Question Number : 63 Question Id : 64635025017 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which literature among the following in relation to a periodization of Bourgeois
traditions formed the basis of Chrstopher Caudwell’s study of poetry in Flusion and
Reality?

1. Russian
2. Enghsh
3. French

4. (erman

Options:
4235098157, 1

E4E35098188. 2
E4E35098189. 3
645350958130, 4



Question Number : 63 Question Id : 64635025017 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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1. =i
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Options:
4535095157, 1

E4E3503818E. 2
E4E35098189. 23
B45350958130. 4

Question Number : 64 Question Id : 64635025018 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The formalist approach to literary history is derived in part from
1.  Hegel’s approach to World History

2. Nietzsche’s approach to Genealogy

3.  Saussure’s approach to Linguistics

4.  Marx’s idea of class struggle

Options:

64535098191, 1
64535038192, 2
64535038193 =
4835095194 4

Question Number : 64 Question Id : 64635025018 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
43503951491, 1

E4E35098182. 2
E453503981393. 3
E4E350958194. 4

Question Number : 65 Question Id : 64635025019 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The Ritikaal literature was a stylized re-enactment of
1.  Early Sanskrit drama

18 Radha-Knshna love
3. The Persian namah

4. Nirguna Bhakt expression

Options:

64535098195, 1
64535038196, 2
64535033197, 2
E4E350392198. 4

Question Number : 65 Question Id : 64635025019 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
4235095155, 1



E4E350398196. 2
645350981387, 3
6453509581398, 4

Question Number : 66 Question Id : 64635025020 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Who among the following displayed freedom from court influences in relation to the
evolution of Urdu poetry of the 18" and 19" centuries?

1. Insha Allah Khan
3. Sauda

3.  Saadat Yar Rangeen

4. Wali Muhammad Nazeer

Options:

64535098199, 1
64535038200, 2
64535038201, =
4835095202, 4

Question Number : 66 Question Id : 64635025020 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

64535098199, 1
64535033200, 2
E4E35098201. 2
64535098202, 4

Question Number : 67 Question Id : 64635025021 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Who is the author of 4fter Babel?
1. George Steiner

2. Dawid Crystal
3 Susan Bassanett

4. Noam Chomsky

Options:

64535098203, 1
64535038204, 2
64535033205, 2
E4E35093206. 4

Question Number : 67 Question Id : 64635025021 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

645350398203, 1
E4E350398204. 2
E4E350398205. 3
EAE35098206. 4

Question Number : 68 Question Id : 64635025022 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Who among the following contributed the land mark essay, ‘Comparative Literature in
India’ to the 1959 1ssue of Yearbook of Comparative and General Literatire?

1.  Indranath Chaudhun
2. Subramania Bharati
3.  Buddhadeva Bose
4. Amiya Dev

Options:



EAE35098207. 1
645350398208, 2
64535098205, 3
645350398210, 4

Question Number : 68 Question Id : 64635025022 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
E4E35098207. 1

E4E35098208. 2
E4E35098208. 3
E4E35098210. 4

Question Number : 69 Question Id : 64635025023 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which school of Comparative Literature i1s traditionally associated with the binary
approach?

1. US-German School

2. French School

3.  Korean School

4. Latin American School

Options:

64835098211, 1
4535098212 2
64535098212,
64535098214, 4

Question Number : 69 Question Id : 64635025023 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
4535095211, 1

E4EZ5098212. 2
E4E35098213. 3
E4E35098214. 4

Question Number : 70 Question Id : 64635025024 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Among the State of Discipline Reports which two reports advocated the cause of
studying hiterature 1n original languages?

(a) The Bernheirner Report
(b) The Greene Report
(¢) The Levin Report

(d) The Saussy report

The right combination 1s
. (a)and(b)
2. (a)and(d)
3.  (b)and (c)
4. (c)and (d)
Options:

64535098215, 1
E4E35098216. 2
E4E35098217. 3
B4E5350982158. 4

Question Number : 70 Question Id : 64635025024 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64535098215, 1
64535098216, 2
E4E35098217. 3
EAE35098215. 4

Question Number : 71 Question Id : 64635025025 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



According to Rene Etiemble the practice of Comparative Literature is centred around
two of the following notions :

(a) Rejection of World Literature
(b) Rejection of an exclusively positivist comparative literature

(¢) The integrated study of forms and the comparative analysis of metrical systems
and symbols

(d) Emphasis on the idea of general literature

Seclect the correct option :

1. (b)and (d)
2. (a)and(c)
3. (b)and(e)
4. (a)and(d)

Options:

64635098219, 1
E4E35098220. 2
64535098221, 5
4535098222, 4

Question Number : 71 Question Id : 64635025025 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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3. (DR
4. (1) 3R
Options:

E4E35098219. 1
BAE35098220. 2
B4E35098221. 3
4535098222, 4

Question Number : 72 Question Id : 64635025026 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Who, among the following, has argued for recognizing a ‘pre-history” of Comparative
Literature in India?

1. Nabaneeta Dev Sen
2.  Swapan Majumdar
3. Sisir Kumar Das

4.  K.M. George

Options:

64535098223, 1
E4E350393224. 2
64535098225, 5
4535098226, 4



Question Number : 72 Question Id : 64635025026 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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3. RERRgART™
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Options:
E4E2E0985223. 1

EAEZ5098224. 2
EAE35098225. 3
BAE35098226. 4

Question Number : 73 Question Id : 64635025027 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
What is the name of the national association of Comparative Literature in India?

1. Indian Comparative Literature Association
2. Comparative Literature Association of India
3.  Indian National Comparative Literature Association

4. Comparative Indian Literature Association

Options:

64535098227, 1
64535038228, 2
4835098229 2
4535098220 4

Question Number : 73 Question Id : 64635025027 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
mﬁwé@aﬁv@ummm%
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Options:

64535098227, 1
4835098228 2
4535098229 2
64535028220, 4

Question Number : 74 Question Id : 64635025028 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Who introduced the term “infer-semotic translation’?

1.  Albrecht Neubert
2 Lawrence
3. Mona Baker

4, Roman Jakobson

Options:

64535098231, 1
4835098232 2
45350982232 2
64535028224, 4

Question Number : 74 Question Id : 64635025028 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

‘Saaiside EalG” Ue S TYH TanT f&He Rar

1. 3 gac
2. WA
3. HFATEER

4.  THF AHIEEA

Options:

64535098231, 1
64535038232, 2
48350398222 2
4535098224 4

Question Number : 75 Question Id : 64635025029 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Who translated Homer’s Odyssey from Greek into Latin?
1. John Purvey

= Matthew Amold
3 W. H. Auden

4. Livius Andronicus
Options:
£4635098235. 1
64635035236, 2
64635098237, 3
£4635098238. 4

Question Number : 75 Question Id : 64635025029 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

TR & ‘e o1 Mo I afe= & oA &9 fooan 2

1. WHYd
2. Hy 3Ffes
3. &g U ST

4. Tofdow tgiFea
Options:

64535098235, 1
64535098236, 2
E4E35038237Y. 3
EAE35098238. 4

Question Number : 76 Question Id : 64635025030 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Who is the writer of the collection of essays, In Translation : Positions and Paradigms?
Sujit Mukherjee

[

2. Indra Nath Chaudhun
3. Amsur Rahman

4., @G.J.V.Prasad

Options:



EAE35098239. 1
B4535098240. 2
645350958241, 3
645350395242, 4

Question Number : 76 Question Id : 64635025030 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

‘T TR : OISR U8 WIS 1S el 96 & aEs S e |
L o it
2. TR
3. IR WwHH
4. WA TR

Options:

64535098239, 1
E4E35093240. 2
4535098241, =2
64535098242, 4

Question Number : 77 Question Id : 64635025031 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Who is the author of the work which, in one version, has been translated as The Stubble
under the Cloven Hoof ?

1. Bankim Chandra Chattopadhyay
2. Valkom Muhammad Basheer

3.  Fakirmohan Senapati
4. Mohan Rakesh

Options:

4835098243, 1
4535098244 2
64535028245, o
4535098246, 4

Question Number : 77 Question Id : 64635025031 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



G WAd 3R T &I §F° F BU 4 U FEHI0 o] TS o fan mn € 39 e &
oE® &4 §
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Options:

64535098243, 1
64535038244, 2
64535033245 2
4835093246, 4

Question Number : 78 Question Id : 64635025032 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following is the most switable example of translation as reception?

1.  Jhumpa Lahiri’s Namesake
2. Edgar Allan Poe’s The Teli-tale Heart
3.  Girsh Chandra Ghosh’s Jaisa Ka Taisa

4. Thakazhi Sivasankara Pillai’s Chemmeen

Options:

64535098247, 1
64535038248, 2
64535038249 =
64835098250 4

Question Number : 78 Question Id : 64635025032 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Frafafed # § SF-91 SFaTe S1fy T80 &1 Jafiis Iuged SIS 31 SeTeul 87
. U aed &1 e
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Options:



EAE35098247. 1
64535098248, 2
B4535098245. 3
645350398250, 4

Question Number : 79 Question Id : 64635025033 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Who among the following most famously brought up the idea of the invisible translator
in the twentieth century?

1. Lawrence Venuti
2. Sujit Mukherjee
3. Susan Bassnett

4.  Eugene Nida

Options:

64635098251, 1
E4E350398252. 2
4535098252 2
64535098254, 4

Question Number : 79 Question Id : 64635025033 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Fofeied # | o waifte virg fage 3 dd It # o oraTe’ & faaR & tRga
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2. gio| gweit
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4. o e

Options:

64535098251, 1
64535038252, 2
645350338253 2
E4E350393254. 4

Question Number : 80 Question Id : 64635025034 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Who among the following translated the Bible into English from Latin between 1380
and 13847

1. William Caxton
2. John Wychiff
3.  William Tyndale

4. Coverdale

Options:

64535098255, 1
645350338256, 2
E4E35098257. 2
64535095258, 4

Question Number : 80 Question Id : 64635025034 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

o | & 1380 3R 1384 & §19 S84 &1 3HATE dicT d 3fUsi | fBar?
1. faferm Seges

2. T drsieaw
3. fafemm femsa
4. HEeed

Options:

64535098255, 1
64535038256, 2
E4E35098257. 2
E4E35098258. 4

Question Number : 81 Question Id : 64635025035 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Who among the following established Vakroksi as a school of poetics?
1. Bhamaha

2. Vishvanatha

3. Mammata

4. Kuntaka



Options:

64535098259, 1
4835098260 2
4535098261, 2
4535028262, 4

Question Number : 81 Question Id : 64635025035 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

FUH T o0 Toiied’ & SIouRe & U6 9l & &0 ° it fean?

1. HHE
2. fayemy
3. HWEC
4. FA®

Options:

64535098259, 1
64535038260, 2
645350338261, 2
E4E350398262. 4

Question Number : 82 Question Id : 64635025036 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which one of the following correctly enumerates the components of Bharat Muni’s
rasa-sutra?

. abhidha, lakshana, vyanjana

2. bhava, amihbava, tirobhava

3. alamkara, rasa, bhava

4.  wvibhava, anubhava, vyabhicharibhava

Options:

64535098263, 1
64535038264, 2
645350338265, 2
E4E350393266. 4

Question Number : 82 Question Id : 64635025036 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
E4E350952E63. 1

E4E35098264. 2
E4E35098265. 3
EAE35098266. 4

Question Number : 83 Question Id : 64635025037 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which among the following 1s a set of poeticians from Kashmir?
1.  Jayaratha, Kuntaka, Anandavardhana

2.  Mammata, Panditaraja Jagannatha, Ruyyaka
3. Keshavadasa, Vishveshvara, Kohal

4. Bharatmum, Abhinavagupta, Dhamka

Options:
435098267, 1

EAE35098ZEE. 2
EAE350398269. 3
EAE35098270. 4

Question Number : 83 Question Id : 64635025037 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

fFofeEd 7 9 &1F-91 HYHR & SR & A 1 U6 JH=Y g7
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Options:



EAE35098267. 1
EAE35098268. 2
E4E535098269. 3
645350398270, 4

Question Number : 84 Question Id : 64635025038 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which one of the following correctly describes the three significative powers of word
(shabda-shakti)?

1. rasa, bhava, anubhuti
2.  wibhava, anubhava, sancar
3.  abhidha, lakshana, vyanjana

4. abhidha, vakrokti, dhvam

Options:

4535098271, 1
64535028272, 2
64535098273, o
64535038274, 4

Question Number : 84 Question Id : 64635025038 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Frafafed | 3 sF-a1 37 @ fheisme) T Il f 98 w0 3 st s g2
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2. favE, erpyE, 99t
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Options:

64835098271, 1
64535038272, 2
64535098272, 5
64535038274, 4

Question Number : 85 Question Id : 64635025039 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



“The only way of expressing emotion in the form of art is by finding an objective
correlative; 1n other words, a set of objects, a situation, a chain of events which shall be

the formula of that particular emotion.”
(T. S. Eliot, ““Hamlet and His Problems™ 1919)

Which among the following schools of Sanskrit poetics has a close resemblance to
affinity with Eliot’s concept of objective correlative?

1. Dhvam
2. Riti
3. Vakrokt

4. Rasa

Options:

64535098275, 1
64535038276, 2
4835098277, 2
4535098278, 4

Question Number : 85 Question Id : 64635025039 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64835098275, 1
E4E35098276. 2
64535028277, o
4535098278, 4



Question Number : 86 Question Id : 64635025040 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which among the following literary works are also known as ifihasa?
1.  Meghadutam and Dashakumarcharitam

2. Ramacharitamanasa and Gaha Satsai
3.  Ramayana and Mahabharata

4. Rajatarangini and Tolkappiyam

Options:

64535098279, 1
4835098280 2
4535098281, 2
64535028282, 4

Question Number : 86 Question Id : 64635025040 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Fofafead & § i aitide et o ‘e’ & Tu d ot o1 sar 82
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2. THIRGAE 3R MEl 9a9s

3. JHIE0 3R AETHRA
4. oo 3R dieeiaay

Options:

4835098279, 1
645350982580, 2
64535098281, o
64535038282, 4

Question Number : 87 Question Id : 64635025041 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



In Plato’s ontology, literature belongs to

1.  Pure forms/ideas
2. hypothesis
3.  images and shadows

4.  the realm of conjectures

Options:

4535098283, 1
64535098284, 2
64535038285, =
645350332386, 4

Question Number : 87 Question Id : 64635025041 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Wiel B FaHHTE H, At Fafired | 9 el g9 82

1. fIgs sufaEr

2. HlhdeU-]
3. oy el wmn
4. TEE® i &1 aF

Options:
4535098253 1

EAEZ5098284. 2
E4E35098285. 3
BAE35098286. 4

Question Number : 88 Question Id : 64635025042 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which modern theorist has been influenced by St. Augustine’s concept of time?
1.  Stephen Greenblatt

2. Paul Ricoeur
3. Georg Lukacs

4. Lews Althusser

Options:
64535098287, 1



EAE35098288. 2
B4E535098289. 3
B4535098230. 4

Question Number : 88 Question Id : 64635025042 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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. ¥ diTsare
2. dla i@
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Options:

4535098287, 1
64535098288, 2
64535038289, =
64535033290, 4

Question Number : 89 Question Id : 64635025043 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Who among the following Sansknt poeticians mention the literary view of
Avantisundari?

1. Kalidasa
7. Bharawvi
3. Bhoja

4. Rajashekhara

Options:

64535098291, 1
E4E350393292. 2
64535098292, 5
64535098294, 4

Question Number : 89 Question Id : 64635025043 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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1. IfegHN
2. HRR
3. Hid
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Options:

64535098291, 1
E4E350393292. 2
64535098292, 5
64535098294, 4

Question Number : 90 Question Id : 64635025044 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

What is the main subject of “akam’ poems?

1. War

2. Love

3.  Literature
4. Politics

Options:

4535098295, 1
64535098296, 2
64535038297, 2
64535033298, 4

Question Number : 90 Question Id : 64635025044 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

64535098295, 1
4835098296, 2
4535098297, 2
64535028298, 4

Question Number : 91 Question Id : 64635025045 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which of the following texts expounds the philosophy of Lila?
1. Lilawati

2. Bhagavata Mahapurana
3.  Ishopanishad

4.  Naishadhiyacharitam

Options:
4350952499, 1

E4E350398200. 2
E4E350398201. 3
E4E350398202. 4

Question Number : 91 Question Id : 64635025045 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

B d @ F-91 9y ‘diar & o2 &1 viaueT s 82
1. dtamaal

2. YT HETgRIT
3. IRIuEg

4. SuefoEfay

Options:

64835093299, 1
4535092200, 2
64535098201, 2
64535038202, 4

Question Number : 92 Question Id : 64635025046 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



In 1886, who translated the first complete version of Thirukkural into English?
1. V. Ramnarayan

2. K. S. Subramanian
3. G V. Pope

4. S. Knishnan

Options:
425038303 1

E4E35038204. 2
E4E350398205. 3
EAE35098206. 4

Question Number : 92 Question Id : 64635025046 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
g 1 W Huf SiTieh SrgaTg 1886 H e fasam
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Options:

64535098203, 1
64535038204, 2
64535033305, 2
E4E350933206. 4

Question Number : 93 Question Id : 64635025047 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which among the following is a literary work NOT based on Mahatma Buddha?
1. Sidhartha

2. The Light of Aisa
3. Buddhacharitam

4. Kundamala

Options:
64535098207, 1
E4E3503983208. 2



E4E350398208. 3
E4535098210. 4

Question Number : 93 Question Id : 64635025047 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64535098207, 1
64535038208, 2
64535038209, =
48350982104

Question Number : 94 Question Id : 64635025048 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

What 1s the techmical term for the last couplet in a ghazal in which the poet introduces
his’her name?

1. Matlaa
2. Maqgtaa
3. Misraa
4. Radif

Options:

64535098211, 1
64535038312, 2
64835098212 2
4535092214 4

Question Number : 94 Question Id : 64635025048 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

4835098211, 1
4535098212 2
64535028212,
64535098214, 4

Question Number : 95 Question Id : 64635025049 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which among the following philosophical systems constitutes the philosophical base of
Jaishankar Prasad’s celebrated epic Kamayari?

1. Vedanta
2. Pratyabhijna
3. Bauddha

4. Mimamsa

Options:

64535098215, 1
64535038316, 2
4835098217, 2
4535098218 4

Question Number : 95 Question Id : 64635025049 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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1. dgid
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Options:

64535098215, 1
64535098316, 2
64535038217, 2
64535033218, 4

Question Number : 96 Question Id : 64635025050 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which set among the following is techmcally a set of Sufi poets?
1.  Amir Khusru and Waris Shah

2. Sheikh Farid and Dagh Dehalwvi
3. Shah Hussain and Nazrul Islam

4. Bulle Shah and Zauq

Options:

64535098219, 1
48350983220 2
4535098221, 2
64535028322, 4

Question Number : 96 Question Id : 64635025050 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535098219, 1
64535033320 2
E4E350938321. 2
64535095222, 4

Question Number : 97 Question Id : 64635025051 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which of the following is described by ‘Baromasa’ or ‘Barahmasa® a folk literary
form?

L. Seasons
2 marriage ceremony
3. birth rituals

4. death nituals

Options:

4835098323, 1
4535098224, 2
64535098325, o
4535038326, 4

Question Number : 97 Question Id : 64635025051 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:



EAE350982323. 1
645350982324, 2
64535098325, 3
645350398326, 4

Question Number : 98 Question Id : 64635025052 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which of the following i1s Meera Bai generally associated with?

1. Sufi

2. Ritikaal

3. Bhakt

4.  Chayavaad

Options:

64535098327, 1
645350338328, 2
E4E350938329. 2
4535098220 4

Question Number : 98 Question Id : 64635025052 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

E4E35098327. 1
64535098228, 2
64535098329, o
645350382330 4

Question Number : 99 Question Id : 64635025053 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Among the following who is associated with Veerasaivite school?

1. Meera Bai
2. Mahadewvi Akka
3. Nammalwar

4. Surdas

Options:

64535098231, 1
645350338332 2
E4E350983322. 2
64535095224, 4

Question Number : 99 Question Id : 64635025053 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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4. T

Options:

64535098231, 1
64535038332, 2
645350338333 2
E4E3503933224. 4

Question Number : 100 Question Id : 64635025054 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Among these versions, which 1s a Javaneese version of Ramayana?

1. Ramcharitmanas
2. Uttararamacharitam
3.  Ramayana Kakawin

4. Molla Ramayana

Options:
E4E35095335. 1



E4E350398236. 2
B4E53503982337. 3
645350982328, 4

Question Number : 100 Question 1d : 64635025054 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:
E4E35095335. 1

E4E3503985336. 2
E4E350398237. 3
E45350982328. 4

Question Number : 101 Question Id : 64635025055 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of these writers has written a short story taking Rabindranath Tagore’s
Kabuliwala as the ur-text?

1. Saadat Hasan Manto
2. Kishwar Naheed
3.  Abdullah Hussein

4,  Zahida Heena

Options:

64535098239, 1
64535038240, 2
48350938241, =2
4535098242 4

Question Number : 101 Question Id : 64635025055 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535098239, 1
4835098240 2
4535098241, =2
64535028242, 4

Question Number : 102 Question Id : 64635025056 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which German philosopher’s work i1s the source of the idea that franslation hence a
responsibility to give a strong impression of linguistic particularity or “other’ of the
source text?

1.  Ludung Feuerbach
2 Friednch Schleiermacher

3.  Aurthur Schopenhauer

4. Martin Heidegger

Options:

4535098343, 1
4535098244 2
64535028245, o
64535038346, 4

Question Number : 102 Question Id : 64635025056 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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2. TheRd TgeHIG

3. 3R To=ER
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Options:

64535098243, 1
64535038344, 2
64535035245 =
48350953246 4

Question Number : 103 Question 1d : 64635025057 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

From the following women writers who can be termed as the writer of the re-telling of
Ramayana in modern India?

(a) Sara Joseph
(b) Ambai
(¢) Volga
(d) Ashapurna Dewvi
Select the correct option :
1. (a)and(b)only
2. (a),(b)and(c)only
3. (d)only
4. (c¢) and (d) only

Options:

64535098247, 1
64535038348, 2
645350358249, =
648350983250 4

Question Number : 103 Question Id : 64635025057 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
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Options:

645350398347, 1
64535095348, 2
E4E350398248. 3
E4E35098250. 4

Question Number : 104 Question Id : 64635025058 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match the form with the text :

Form Text
(a) Carit (1) Meghanadvadh Kavya
(b) Namah (1) Kanthapura
(¢) Mahakavya (111) Dhoraicharit Manas
(d) Sthalapurana (1iv) Zindaginama

Select the correct option :
1. (a)-Qv), (b)-(u), (¢)-(1u), (A1)
2. (@), (b)-i1), ()1, (d)—1v)
3. (&), (b)), (¢)-i1), (A)iv)
4. (@), (b)-Qav), (¢)-1), (d)-()

Options:

6453509535101
64535098352, 2
64535098353, o
64535035354, 4

Question Number : 104 Question Id : 64635025058 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(a) =G (i) TOYIEdY HH
(b) (i) Sarg
(c) Hgl»™A (ii1) INECIEG IRE|
(d) =yEgIor (iv) o=
el e g :
1. (a)-(v), (by-(u), (c){11), (d)—{1)
2. (a)-(), (b)), (c)-(1), (d)~(iv)
3. (a)-1), (b)), (c)-(ii), (d)}Hiv)
4. (a)-(i1), (b){iv), (c)—1), (d)-(1)
Options:
C4E3E0958251. 1
C4EZEQ9RZEE2. 2
E4EZEQ9RZEE. 2
C4E35095254. 4

Question Number : 105 Question Id : 64635025059 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following best explains ‘colomal modernity’™?

L.

Options:

E4535098255.
645350398356,
64535098357,
E4EZ50985358.

uncritical imitation of Western models
native inflection of Western theme/forms
plagiarism of important Western texts

a rejection of Western literary influence

o IR

Question Number : 105 Question Id : 64635025059 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
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Options:

64535098355, 1
64535038356, 2
64835098357, 2
4535098258 4

Question Number : 106 Question Id : 64635025060 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following Western mode 1s adopted by M. T. Vasudevan Nair in his
novel, Manju (English translation Misz)?

L Stream of consciousness narration
2. Dary entries making a novel
3.  Imagist devices

4.  Poetic Drama

Options:
E4E2E098359.

1
E4E350398360. 2
E4E35098261. 3
EAE35098362. 4

Question Number : 106 Question 1d : 64635025060 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



TH. 1. argead TRR 7 30 IO HY (3iUSH oare i) # Fofaie | 9 e ofid
fafYy &1 aoeman 82

.  Id-1-VATE UGaud e
2. SN viamal g e Iuam
3. = ues

4. DIATHD Alch

Options:

4535098259, 1
64535098360, 2
64535038361, =
64535033362, 4

Question Number : 107 Question 1d : 64635025061 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Jagannatha 1s the central character from which of the following works?
1. U.R. Ananthamurthy, Bharathipura

4:8 Cho. Dharman, Wetness
3. Prathibha Ray, Yagnaseni : The Story of Draupadi

4. Rabindranath Tagore, Home as the World

Options:

64535098263, 1
64535038364, 2
48350398365 2
4535098266 4

Question Number : 107 Question Id : 64635025061 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
435038363, 1

E4E350398364. 2
EAE350398265. 3
EAE35098266. 4

Question Number : 108 Question Id : 64635025062 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Who has translated Bama’s Karukku into English?

1.  Meena Kandasamy
2. Lakshm Holmstrom
3.  S. Knshnan

4. A. K. Ramanujan

Options:

64535098367, 1
645350338368, 2
E4E3503938369. 2
64535098270, 4

Question Number : 108 Question Id : 64635025062 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

E4E35095367. 1
64535028368, 2
64535098369, o
64535038370, 4

Question Number : 109 Question Id : 64635025063 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Who, among the following was instrumental in founding the Nepali language
Chandrika P artika?

1. Parasmani Pradhan
2. Udayman Pradhan
3. Gyanmani Pradhan

4, Indra Bahadur Rai Pradhan

Options:

64835098371, 1
64535038272, 2
64535098372, o
64535038374, 4

Question Number : 109 Question Id : 64635025063 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64835098371, 1
64535038272, 2
64535098372, o
64535038374, 4

Question Number : 110 Question Id : 64635025064 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which essay by Rabindranath Tagore in Prachin Sahitva deals with, among other,
things, the term ‘Epic’ and ‘Mahakavya’ and critiques the Western response to Indian
Epics?

1. Ramayana
2. Mahabharata
3. Purana

4.  Kadambarichitra

Options:

64535098375, 1
E4E3S038376. 2
64535098277, 5
64535098378, 4

Question Number : 110 Question Id : 64635025064 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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3. T
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Options:

64535098375, 1
64535038376, 2
64535038377, 2
4535098278 4

Question Number : 111 Question Id : 64635025065 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The writings of Kutti Revati 1s associated with which of the following languages?

1. Malayalam
2. Telugu

3. Kannada
4. Taml

Options:

64535098379, 1
E4E350398380. 2
4535098281, 5
4535098382, 4

Question Number : 111 Question Id : 64635025065 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535098379, 1
48350983280 2
4535098281, 2
645350282382, 4

Question Number : 112 Question Id : 64635025066 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Match the following :

Book Author
(a) Karukku (1)  Om Prakash Valmiki
(b) Akkarmashi (1)  Urmila Pawar
(c) Joothan (111) Bama
(d) Aidan (iv)  Sharan Kumar Limbale

Select the correct option from those given below :
L. (a)-(i1), (b)), (¢)-1), (d)-(1)
2. (a)-(), ()i, (c)-Gi), ([@)iv)
3. (a)-v), (b)), (c)—(u1), (d)-1)
4. (a-(), (b)-(u1), (¢)-(av), (A1)

Options:

64535098383, 1
4835098384, 2
4535098285 2
645350282586, 4

Question Number : 112 Question Id : 64635025066 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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1.

2.

A

4.

Options:

64535098383,
E4E350398384.
E4E35098285.
BA5350982386.

Question Number
Single Line Quest

(a)—(1), (b)~(1v), (¢)~(1), (d)-(11)
(a)—(1), (b)-(111), (¢)—(11), (d)-(1v)
(a)-(1v), (b)—(11), (c)(iit), (d)-(1)
(a)-(11), (b)ii), (¢)—1v), (d)-)

[ N S

: 113 Question Id : 64635025067 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
ion Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Who among the following is generally credited with having been the first woman to
have penned the first full-length travelogue in Bengali?

I

2.

3

4.

Options:

EAEZS0398387.
E4E35098288.
B4535098289.
645350398330,

Question Number
Single Line Quest

Rassundar1 Dasi
Knshnabhavim Das
Mahasweta Devi

Ashapurna Devi

o LI M

1 113 Question Id : 64635025067 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
ion Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
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Options:

64535098387, 1
E4E35098388. 2
4535098289 2
64535028290, 4

Question Number : 114 Question Id : 64635025068 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The 19% to 20% century revival of Arthurian legends gave rise to which genre in
English?

1.  High Fantasy
2 Gothic Novels
3. Detective Fiction

. Science Fiction Novels

Options:

64535098291, 1
64535038392, 2
64535038393 2
4835093294 4

Question Number : 114 Question 1d : 64635025068 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535098291, 1
64535098292, 2
64535098292, o
64535035294, 4

Question Number : 115 Question Id : 64635025069 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which of these epics uses as a stock element the dialogue of heroes before battles?
1.  The Hliad

2. The Odyssey
3.  Paradise Lost
4.  Gilgamesh

Options:

E4535098295. 1
64535098396, 2
64535038297, 2
64535035298, 4

Question Number : 115 Question 1d : 64635025069 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

4535098295, 1
64535098396, 2
645350383297, 2
64535033398, 4

Question Number : 116 Question 1d : 64635025070 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which Indian novel is an attempt at tracing historical development from a materalist
perspective over the ‘longue duree’?

1.  Chemmeen
2. Volga se Ganga

3. Maila Aanchal

4, Samskara

Options:

64535098299, 1
E4E35092400. 2
E4535095401. 5
64535098402, 4

Question Number : 116 Question Id : 64635025070 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535098299, 1
4835093400, 2
4535092401, 2
64535095402, 4

Question Number : 117 Question Id : 64635025071 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following describes the hiterature in which Kha-Phawar 1s a poetic genre?

1. Meiter

2. Jayantiya
3. Angami
4. Khasi

Options:

64535098403, 1
64535033404, 2
E4E350393405. 2
64535095406, 4

Question Number : 117 Question Id : 64635025071 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:



E4535098403. 1
645350358404, 2
645350358405, 3
645350395406, 4

Question Number : 118 Question Id : 64635025072 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Roman Jakobson’s binary of metaphor and metonymy is an extension of which of the
following pairs?

1.  Synchrony and diachrony
2. Langue and parole
3. Syntagmatic and paradigmatic
4. Speech and writing
Options:
64635098407, 1
64635098408, 2

64535095409, 3
E4E35098410. 4

Question Number : 118 Question Id : 64635025072 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535098407, 1
64535038408, 2
64535033409, 2
48350935410 4

Question Number : 119 Question Id : 64635025073 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



With which genre 1s the name of Sophocles generally associated?
1.  Greek comedy

2. Greek tragedy
3. Roman tragedy
4. Roman comedy

Options:

64535098411, 1
64535033412 2
E4E350392412. =2
64535095414, 4

Question Number : 119 Question Id : 64635025073 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
645350395411, 1

E4E35039841Z2. 2
E4535098413. 3
EAE350958414. 4

Question Number : 120 Question Id : 64635025074 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which of the following statements is applicable to the concept of motif?

1. Motifis a sliding metaphor
7.8 Motif 18 deduced from situations
3. Motif 15 extrinsic to the text

4. Motifis genencally determined

Options:



E4E350398415.
BA535098416.
B4535098417.
6453503958418,

[ N N

Question Number : 120 Question Id : 64635025074 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
64535095415 1

E4E350398416. 2
E4E35098417. 3
E453509584158. 4

[—

Question Number : 121 Question Id : 64635025075 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Match the following :
Attnibutes Context
(a) Orpheus (1) Topos
(b) Jealousy (1) Motifs
(¢) Wanderlust (1) Situation
(d) Blackness (1v) Theme

Select the correct option :
1. (a)v), (b)), (©)i), (d)—1)
2. (a)y-Q), (b)y1), (c)-v), (d)-)
3. (a)y-(m), (b)), (c)-1), (A)-(v)
4. (a)y-(u), (b)1v), (c)1), (d)—1)

Options:



E4E350398413.
BAE35098420.
B4535098421.
64535098422,

[ N N

Question Number : 121 Question Id : 64635025075 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

=1 &1 i Sifee
o S|
(a) 3pTg i) <O

(b) =i Gra (i) HRw
(c) disax (i) Rr=gue=
(d) oo s (v)  favaes e

e e 3T
L (@), (B, (©)~i), ()6
2. (a)t0), B, (0)~Giv), (@)iii)
3. (@)Gii), (0, (0, [D-Gv)
4. (@G, 0)iv), (O, (i)

Options:

E4E35098413. 1
E4E35098420. 2
645350958421, 3
645350958422, 4

Question Number : 122 Question 1d : 64635025076 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which among the following can be studied most effectively and in a histornicized
manner, using theme as one’s point of entry?

LI

2.

Thomas Mann’s Transposed Heads and Girish Kamad’s Hayavadana
Thomas More’s Utopia and Girish Karnad’s Havavadana
Thomas More’s Utopia and Vijay Tendulkar’s Kamia

Niccolo Machiavelli’s The Prince and Vijay Tendulkar’s Kamala



Options:

64535098423, 1
48350935424 2
45350938425 =2
64535028426, 4

Question Number : 122 Question Id : 64635025076 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

g # 9 frger siwms g7 s & 30T VA fig SR 999 UHERT @ F 3R
ZfIeTrTd 27 | fooar o goar 27

1. o9 B9 &1 gits g aul i o+is @1 gade
2. Y HR 31 ‘geiitar aul R &7 &1 ‘gaaeT

3. Y HR &1 “geiedr ay fasw dgae &1 ‘sHar

4. TFroem AfeaRd &1 g i iR A dgae? & sHar

Options:

64535098423, 1
64535033424, 2
E4E35093425 2
64535095426, 4

Question Number : 123 Question Id : 64635025077 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which two thinkers deleated on the 1dea that language defines our collective humanity
and that there 1s no getting “outside’ this dimension even for economic and political
forces?

1. Gadamer and Habermas
2. Brecht and Lukacs
3.  Althusser and Thompson

4.  Chomsky and Skinner

Options:
4535093427,

1
E4E35098428. 2
645350958425, 3
645350958430, 4

Question Number : 123 Question 1d : 64635025077 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

o H 9 5 o Riael = 39 919 W 959 1 & HIeT TER SR e gadl B uieHTRT St
2 3R anfife wd Tremfae wfdaar ae 39 amam 3 T =8 &2

1. TEFR 3R eEvHE

2. % R geN
3. AYER 3R UrE
4, AR AR R

Options:
E4E25095427. 1

E4E35098425. 2
E4E350958429. 3
E45350958420. 4

Question Number : 124 Question 1d : 64635025078 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

By which of the following pairs, Todorov in his essay The Origins of Genres illustrates
the point that genre exists as an institution playing an dual function i.e. “honzon of
expectation” and ‘models writing’?

1.  Critic, author

2. Critic, publisher
3.  Reader, author
4.  Critic, reader

Options:

646350938431, 1
E4E350393422. 2
4535098423 =2
64535098424, 4

Question Number : 124 Question Id : 64635025078 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



B & ¥ fom gl & gR1 AeRE X o= Ry el & qu # 59 g @t ofar @ 1 R
Us U G0 % U § Higg 8 ol 3l Yol @l 1 S e—1a: st @1 fifae ok
IS o B2

. YHEES, vES
2. GHEAES, YHRIS
3. UG®, Ou®

4.  GHEED, UGH

Options:

64535098431, 1
E4E350393422. 2
4535098423 =2
64535028424, 4

Question Number : 125 Question Id : 64635025079 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The concept of the transduction includes the following acivities :
(a) Insertion of one text into another

(b) Genre transformation

(¢) Translation

(d) Exclusion of one text from another

Select the correct option :

1. (a)and(d)
2. (b)and(e)
3. (a),(b)and(c)
4. (c¢)and(d)

Options:

645350938435, 1
4535098426, 2
64535028427, o
64535035435, 4



Question Number : 125 Question Id : 64635025079 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
TIIS 3 Goed=1 H fAuferad mfafafiat it 87
(a) TS UG H o UTG DI S-asl
(b) uroRads

(c) Sigdlk
(d) US TS DI G UIS Y 3T S

el fawew g :

1. (a) 3R ()
2. (b)) 3R (o)
3. (), ()M (o)
4. (0) 3R (d)

Options:
64535095455 1

E4E350398436. 2
E4E35038437. 3
E453509584358. 4

Question Number : 126 Question Id : 64635025080 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The Histories of Herodotus are indebted for their narrative theme and form to

1.  Vugl’s deneid
2. Homer’s fliad

3 Pindar’s Odes

4. Aeschylus’s Oresteia

Options:

64535098439, 1
64535038440, 2
64535033441, =
4535095442 4



Question Number : 126 Question Id : 64635025080 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

ISIca 31 ‘RN’ 307 MRS HUFS U6 Y & ford et Hoft 7
1. e @1 s
2. BRI FhEs’

SR @1 “3fgw

Yaferg &1 < sRfear
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Options:

64535098439, 1
64535038440, 2
64535033441, =
4535095442 4

Question Number : 127 Question Id : 64635025081 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
A Brecht’s play staged in the Bengal theatre in Bangla translation was
1.  Jagannath

2. Khorir Gandi
3. Chaitaly Raater Swapno

4 Kolkatar Hamlet

Options:

4835098443, 1
4535095444 2
64535028445 o
64535098446, 4

Question Number : 127 Question Id : 64635025081 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



e ® orgfed TTHg R Hivd SF & U A1ee @ Siva AT F1 82

1. ST
2. WRRTS

3. T TR W
4. DEDHER gHAC

Options:

64535098443, 1
64535035444 2
64535033445 =
E4E35093446. 4

Question Number : 128 Question Id : 64635025082 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which term in contemporary literary studies 1s indicative of the interconnectedness of
modern media communications?

1. Intermediality

2.  Hypertext
3.  Hypotext
4.  Paraphrase

Options:

4535098447, 1
64535098448, 2
64535035449 =
64535035450, 4

Question Number : 128 Question 1d : 64635025082 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

ST TIieid® J2E- A 9 DF-91 T YRS Misd TR 3t 3ia-9dedl &1 999 o7
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Options:

64535098447, 1
4835095448, 2
4535092449 =2
64535028450, 4

Question Number : 129 Question Id : 64635025083 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following have entered the realms of literature from music?
(a) Leitmotif
(b) Sonata
(¢) Symphonic form
(d)y Metaphor
The nght combination is :
1. (a), (b)and(d)
2. (a), (b)and(c)
3. (b),(c)and(d)
4. (a)and (d)

Options:

4535098451, 1
64535098452, 2
64535038453 =
64535033454, 4

Question Number : 129 Question 1d : 64635025083 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



A d 3 PF-91 Ise it § Fifia & aman 22
(a) TIBCHLID

(b) e

(c) NwHIR® FU

@ wT®

e SO BF-91 82
1. (a), (b) 3R (d)
2. (a), (b) 3R (c)
3. (b),(c) 3R (d)
4. (a) 3R (d)

Options:

E4E35098451. 1
E4E350398452. 2
645350958453, 3
54535095454, 4

Question Number : 130 Question Id : 64635025084 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which of these 1s associated with Rabindranath Tagore’s essay Kadambarichitra,
which occurs in Prachin Sahitya?

1.  Literature and Sculpture
2. Literature and Orature
3.  Literature and Painting

4. Literature and Music

Options:

64535098455, 1
64535038456, 2
64535038457, =
64835095458 4

Question Number : 130 Question Id : 64635025084 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



‘urie gt ® gftfed W 2R &1 Fey ‘aremd R o 969y Fa a2 el 2
1. e o e

2. Yiied Ud 3R
3. Ylied wd e
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Options:

&45350938455. 1
64535098456, 2
64535038457, =
64535035455, 4

Question Number : 131 Question Id : 64635025085 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: O

In which language 1s the Tamang Selo sung and performed?

1. Tamang

2.  Lepcha

3. Nepali
4. Rajbansi

Options:
E4E35093459.

1
E4E35098460. 2
E4E350958461. 3
EAE350958462. 4

Question Number : 131 Question Id : 64635025085 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

forg HTeT § aH It rEr R G5l fear s e

1. M
2. @uE
3. Fore
4. ol

Options:
64535098459, 1



E4E35038460. 2
E4E5350958461. 3
EAE35095846%. 4

Question Number : 132 Question 1d : 64635025086 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Who among the following poets also made engraving based on his own poems?

1. S.T. Coleridge
2. William Blake
3. W.B. Yeats

4. William Wordsworth

Options:

4635098463, 1
64535098464, 2
64535038465 =
64535035466, 4

Question Number : 132 Question 1d : 64635025086 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

o d 9 5w s 7 ot sfaarst & R w35 e e B s U

1. U9 3 @ane
2. fafeam sie
3. B=g 49359
4. faftan a9y

Options:

4535095463 1
64535028464, 2
64535098465, o
64535035466, 4

Question Number : 133 Question Id : 64635025087 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Who among the following linguists worked on aphasia and language requisition?
1. Ferdinand de Saussure and Rolland Barthes

2. Roman Jakobson and Noam Chomsky
3. Noam Chomsky and Leonard Bloomfield

4.  Ferdinand de Saussure and Noam Chomsky

Options:

64535098467, 1
64535033468, 2
E4E350395469. 2
64535095470, 4

Question Number : 133 Question Id : 64635025087 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
o H 3 59w 39Te F s fomr Td <HIwl- 3 R S & 87
1. ST T IR wd et
2. UHF OoiaYE Ud A D!
3. AW 9E Ud A SEwics
4. BiSHIS g I U4 AIH Iis!

Options:

64535098467, 1
64535038468, 2
4835095469 =2
4535092470, 4

Question Number : 134 Question Id : 64635025088 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of these plays evidences the relationship between literature and journalism?
1. Viay Tendulkar’s Kamia

2. Mohan Rakesh’s Adhe Adhure
3.  Badal Sircar’s Spartacus

4.  ginsh Kamad’s Nagamandala

Options:
64535098471, 1



EAE35038472. 2
E4535098473. 3
E453509584 74, 4

Question Number : 134 Question 1d : 64635025088 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Fa ® @ $F-91 TIce diied 3R TF@1ial & UdT S ST FHT §?
1. o™ dgaex &1 HHar
2. HIET U BT M SR
3. 9IGd WHR 1 “WKiod’
4, Y =fE &1 e

Options:
4535095471, 1

EAEZ5098472. 2
E4E35038473. 3
BAE5350958474. 4

Question Number : 135 Question Id : 64635025089 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which among the following is an example of Zhirmunsky’s analysis of concept of hero
in French Chansonde geste and Russian folk ballads?

1. Reception
2. Historical-typological analogy

3. Diffusion

4, Influence

Options:

64535098475, 1
64535038476, 2
64535033477, 2
E4E350393478. 4

Question Number : 135 Question Id : 64635025089 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



i TG ofd SR T4 A% Sasl A 0% B GHAl H1 ! gRI a1 T
Rrzeior frgent Iergeor 87

1. IR ()
2. UfoEie-wet arewEa

3. fawr (BweE)

4. YUHME

Options:

4835098475, 1
4535098476, 2
64535028477, o
64535098475, 4

Question Number : 136 Question Id : 64635025090 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Match the play with the author who adapted it following :

Play Author
(a) Bacchae (1)  Bertolt Brecht
(b) Tempest (1) Wole Soyinka
(¢) Beggar's Opera (1) Edward Bond
(d) King Lear (1v) Aime Cesaire

Select the correct option :
1. (a)-), (b)-v), (c)-(m), (d)-(1)
2. (&), (b)), (c)—(1), (d)-ii1)
3. (a-@), (b)H1v), (0)ii), (A1)
4. (a)-i), (b)1). (e)-1), (d)iv)

Options:
45250954759, 1

E4E35098480. 2
E4E350358481. 3
EAE350958482. 4

Question Number : 136 Question 1d : 64635025090 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

FofafEd Aee! & SR $3 g due 9 GAfed Pifg :

qcH GECET
(a) B (i) wche s&
(b) <ux (i) ard |
© S o (i) UsTS
(d) fom R (iv) UF IR

el faeey iRy
L (@D, (b)), (0)(iid), (d)-11)
2. (a)-@), (b)Hiv), (0)~1), (d)—(iir)
3. (a-@), (b)), (i), (d)-O
4. (a)-(), (b)—1), (c)-(1), (d)1v)

Options:

4535098479, 1
64535098480, 2
645350384581, =
645350354582, 4

Question Number : 137 Question 1d : 64635025091 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which term best describes Madhava Kandali’s Ramayana?
1.  Appropriation

2. Assimilation
3.  Adaptation

4. Imitation

Options:

64535098483, 1
64535035454, 2
6483503938485 2
4535092456, 4

Question Number : 137 Question Id : 64635025091 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

E4E35095453. 1
64535028484, 2
64535098485, o
645350354586, 4

Question Number : 138 Question Id : 64635025092 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The Arab reception of Aristotle resulted in the production of significant scholarly works
by

o

Al-Farabi and Ibn Rushd
2. Ibn Batuta and Omar Khayyam
3.  Al-Farabi and Tbn Batuta

4. Al Ghazah and Ibn Jubaya

Options:

4535098487, 1
64535098488, 2
64535035459, =
64535033490, 4

Question Number : 138 Question 1d : 64635025092 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64535098487, 1
645350384588, 2
4835098429 =2
4535092490, 4

Question Number : 139 Question Id : 64635025093 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
The Wheel of Time series by Robert Jordan displays an unorthodox intertextuality of
which medieval tales?

1. The Chanson de geste centering around Charlemagre’s palladins
2. Stores from Thousand and One Nights
3.  The Mabinogi

4. The stories of King Arthur and his Kinghts

Options:

64535098491, 1
64535038492, 2
64535033493 2
E4E350393494. 4

Question Number : 139 Question Id : 64635025093 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535093491, 1
E4E350393492. 2
4535092492 =2
64535098494, 4

Question Number : 140 Question Id : 64635025094 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Match the Shakespeare translation with the languages :

List—I List—II
(a) Bhanumoti Chittobilash (1) Telugu
(b) Chandrasena Durgadeshasy () Odia
Yuvarajah
(¢) Banabala (1) Bengali
(d) Syaru Charitram (1v)  Sanskrit

Select the correct option :
. (&), (b)ii1), (c)-v), (d)-(i1)
2. (a)1), (0)i1), (e)i1), (A)1v)
3. (@), (b)), (&)—(1n), (d)-u1)
4. (a)y-(i), (b)-v), (c)1), (d)-Q)
Options:

E4E25038455. 1
E4B25038486. 2



EAE35038437. 3
E453509584358. 4

Question Number : 140 Question Id : 64635025094 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

IO & 3ATal B TG TS & 1Y AT Hifon ;

a1 T -1
(a) A o e 1) gL

(b) &I G Jauo: (i)  enfEam

(¢) 4Tl (i) ST

(d) fors afem (iv) H%d
Hﬁﬁwqﬁn:

1. (@)-@), (b)), (¢)-(v), (d)-(1)
2. (&), (b)~1), (c)-(11), (d)~(1v)
3. (a)-Gv), (b)), (o)), (d)1i1)
4. (a)-(ui), (b)1v), (c)11), (d)-()

Options:

64535098495, 1
64535038496, 2
64535033497, 2
4535092498, 4

Question Number : 141 Question Id : 64635025095 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following 1s Pratibha Ray’s Yajnaseni, an example of?
1. Adaptation from a Greek text

2. Appropriation of a Latin text
3. A re-wrnting in synchronic mode

4. Re-telling in diachronic mode

Options:



E453509845945. 1
645350398500, 2
64535098501, 3
6453503958502, 4

Question Number : 141 Question Id : 64635025095 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64535098499, 1
64535033500, 2
6483503938501, 2
4535098502, 4

Question Number : 142 Question Id : 64635025096 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following is an instance of Sir Max Beerbohm’s Christmas Garland, a
series of Christmas stories in the style of Henry James?

1.  Imitation
2.  Parody
3.  Adaptation

4. Stylization

Options:

64535098503, 1
64535098504, 2
64535098505, o
64535038506, 4

Question Number : 142 Question Id : 64635025096 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64535098503, 1
4835098504, 2
E4E35098505. 2
64535028506, 4

Question Number : 143 Question Id : 64635025097 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which earlier narrative 1s retold in Randamoozham (The Second Turn)? What is the
language used?

1.  Jataka Stories, Tamil
2.  Mahabharata, Malayalam
3.  Ramayana, Telugu

4. The Shakuntala Story, Kannada

Options:

64535098507, 1
4835098508, 2
4535098509 2
64535028510, 4

Question Number : 143 Question Id : 64635025097 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



HH-91 URIYS Sier Teqg | y=ditr fsan man 82 Iuw f5a Hiwt &1 wan gan 82
1. ode Sl diEd

2. HETHIG, HadTaH
3. HE, dG

4.  Wpadl HYl, FAS

Options:

64535098507,
64535098508,
48235093509,
4535098510,

[ N

Question Number : 144 Question Id : 64635025098 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Match the following characters with the relevant books :

List-I List—II
(a) Jawahir (1) Chitravali
(b) Rajkunwar (i1) Gyvandeep
(¢) Ram Devjam (111) Indravati
(d) Swan Kumar (iv) Hansjawahir

Select the correct option from those given below :
L. (a)-(v), (b)-(u), (c)—11), (d)-(1)
2. (a)-(u), (b)), (¢)-1), (A)H1v)
3. (@), B){), (c)-v), (-
4. (a)-(@), (b)Hn), (¢)-(u1), (d)1v)
Options:
64635038511 1
64635098512 2

E4E35038513. 3
EAE35098514. 4



Question Number : 144 Question Id : 64635025098 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Frofeied T uml o1 3748 I WA1el & 91y gafid S :
a1 Tet-11

(@) wAMR (i) femmaEet

(b) IEHR (i) IFgIg

() T <gort (i) SxrEdl

(d) O FAR (iv) Egolaies
= o U fAwedi B 9 98 ST &1 997 HIo ;

1. (a)-av), (b)), ()~1), (d)-1)
2. (a)y-(m), (b)-(1), (c)-1), (d)-(1v)
3. (a)-(i), (b)iii), (c)-(v), (D))
4. (@-@), (b)), (0)-(u), (d)-(v)

Options:

64535098511, 1
64535098512, 2
64535038513 =
64535033514, 4

Question Number : 145 Question 1d : 64635025099 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match the following :

Author Work
(a) Michael Cromin (1)  The Scandals of Translation
(b) Eric Cheyfiz (1) The Conference of Tongues
(¢) Lawrence Vermti  (u1) Translation of Identity
(dy Theo Hermans (1v)  The Poetics of Imperialism

Select the correct option from those given below :
L. (a)-@), (b)Hi1), (c)-ii), (d)iv)
2. (a)p-(i), (B)-v), (¢)-1), (d-)
3. (a)-(v), (b)), (1), (d)-i1)
4. (@), (b)~1), (¢)-(v), (d)-()

Options:

64535098515, 1
4535098516, 2
64535028517, o
64535038518, 4

Question Number : 145 Question Id : 64635025099 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



TGP DI T B Ty FHOTT BIon

[§ECED ECE|
(a) HZHdE HIET (i) <THUsey 3 THaeH
(b) uRe Afte (i) < PMHY 3G <
(c) R I (i) A= 3Hip SMEeicic
(d) TYaff gHrg (iv) T ULfeed 3t sifafesd
= 3T U el 7 9 T8t 99 &1 997 S ;

L. (a)-@), (b)-(1), (¢)-(i1), (d)~1v)
2. (a)-(u), (b)1v), (¢)-1), (A1)
3. (a)-(v), (b)), (1), (d)—1i1)
4. (@-@), ®)-0), (0)-v), (1)

Options:

64535098515, 1
4535098516, 2
64535028517, o
64535038518, 4

Sub-Section Number: 2
Sub-Section I1d: 6463501234
Question Shuffling Allowed : Yes

Question Id : 64635025100 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension

Questions: No
Question Numbers: (146 to 150)
Juestion Label | Comprehension



Though the Parsi theatre was not the first to become musical, it flourished mainly in the
former Bombay Presidency province and its sphere of influence was confined mainly to the
railway routes connecting various cities of Brifish India. However, the production of the Parsi
theatre owe much to Shakespeare and to the Shakespearean productions from England.
Interestingly, the musical components of Parsi theatre as well as other vernacular and
regional theatre actually came from the indigenous classical, popular and folk fraditions. At
the same fime, 1t 1s the stagecraft, themes and stage conventions, lighting and costumes that
the Parsi theatre took from the west. Above all, Parsi theatre was quick to discover the
commercial potentials of not only the indigenous traditions but also the Shakespearean and
other Western theatrical techniques. As a matter of fact, it is now presumed that the Parsi
theatre borrowed litfle from Shakespeare beyond the general outlines of the plot, but the
theatre companies ensured the biggest and most widely circulated presence of Shakespeare
within the Indian theatrical scene. Many travelling theatres performed Shakespeare in various
cities of British India, sometimes going as far as Rangoon and Singapore. At the same time,
many of these performances were made into films in the silent era and then reproduced 1n the
early talkie era. In a sense, the Parsi theatre was not only modern India’s first commercial
urban theatre but consequent to its penetration into the length and breadth of the country, it
was also India’s first national theatre.

Sub questions

Question Number : 146 Question Id : 64635025101 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Pars1 theatre flourish in Bombay Presidency Province because—

1.  Parsi theatre was musical theatre
2. unlike the other area Bombay Province was connected by railway
3. Parsi theatre was popular in England

4. Parsi theatre was centred around plays of indigenous writers

Options:

64635098519, 1
E4E35098520. 2
64535098521, 5
64535098522, 4

Question Number : 147 Question Id : 64635025102 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Musical component of Parsi theatre gathered its sources from
(a) 1indigenous classical tradition

(b) folk tradition

(¢) popular tradition

(d) Greek tradition

Select the most appropriate option :

1. (&), (b)
2. (9@
3. (a),(b),(c)
4. (a), (d)

Options:

64835098523, 1
E4E35098524. 2
64535098525, o
64535038526, 4

Question Number : 148 Question Id : 64635025103 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Pars1 theatre has been called Indha’s first national theatre because

(a) It successfully brought together Indian indigenous traditions and western stage
craft

(b) Parsi theatre was popular 1n vanous cities of Brifish India as well as in faraway
places such as Rangoon and Singapore

(¢) Parsi theatre was popular among British

(d) Parsi theatre discovered the commercial potentialities of indigenous and western
traditions

Select the most appropriate option :

1. (a), (b).(d

2. (b)(c)

3. (3,0

4. (0 (d)
Options:
E4E35093527.
4535098528,

EAEZ5098529.
E4E35098530.

[

Question Number : 149 Question Id : 64635025104 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Parsi theatre 1s called India’s
1.  fully western oriented theatre

2. first national theatre
3.  foreign theatre

4, Sanskrit oriented theatre

Options:

4635098551, 1
64535098532, 2
64535038533 =
64535038534, 4



Question Number : 150 Question Id : 64635025105 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The musical components of Parsi theatre came from
(a) Classical Indian tradition

(b) Indian folk tradition

(¢} Chinese tradition

(d) Greek tradition

Select the most appropriate option :
1. (a), (byand(c)

2. (b),(c)and(d)
3. (a)and (d)

4. (a)and (b)

Options:
45250955351

E4E35098536. 2
E4E350398537. 3
E4535098538. 4

Question Id : 64635025100 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (146 to 150)
Juestion Label - Comprehension

qTale TS TTHY Siiiqag S5 aTel Igdl STHY e 41 df a8 g ©U § s ieiedt vid °
Hal-Bal 3R 396 THE &7 97 w0 § fifew yra & fafts wed o oigs ae Y arf oo
e 11 gTaies IR T & AT = YeuaR iR YRR & 1! &1 WRgiadl 9 Sgd THE
7gv feran 81 fewy S1d 98 § & ot e & aififoe gew ok gt Siferl iR e iR Tt
& gififde gee 1 axga: 32N, AN, Aoty td e tioiet § foe o 4 afeT T @ o
TTHE F ufym | T, fRvaeyg ok TTHY 91 Sid] Yorr-srawyT quT IRyt o =ie agr
| IEY TgdY, TN TTHT = Seal g 7 % ul oS Sics Jewuiadt iR 317 TTyd WTHE
qP-Ie! B aifteaes SHETeN 1 it odr o 3@ aaa # 3 I8 AFeR = o € 6 sure
P IOt 911 @1 Sree IR | sargl Jist T8 ot § afes T @t suiat T ag gifia
a1 i HRd TTHY URewd § YeRUR $1 Ta@iie JURfd §91 3F® gH- aid TTHY fafew
R & AT T2 § JFUIIR & FIew! BT Hee aed 4| - a 3 I ofik RiMR d@ i 9w
T1d ¥ 1Y & 370 @ DI e R 4o f49m & <R § e &1 off diad fhel & SR | Rt
TR §18 3| o o H urdl T A R enyfe WRd @1 ugen aftifcue wedt TrHE ot Sfes
<Y B BIF-®I o Tge & §IG T8 HRd S Uge JgHa T Hit 7=



Sub questions

Question Number : 146 Question Id : 64635025101 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
1. ORH OTHE U SiaEy I ol
2. UG & RIS Uid T@HE © ST g8 o
3. URH OTHE S H dieind ot
4. U OTHE o}t E@l & sl W Siea ol

Options:

4535098519, 1
64535098520, 2
64535098521, o
64535038522, 4

Question Number : 147 Question Id : 64635025102 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Ut e % itiifae gcel & 9id U
(a) o I T
(b) @B WO
() BT WOl
(d) Fw T
Hali¥e Iuged fAdbed I
1. (a), (b)
2. (0. @
3. (a),(b).(c)
4. (a). (D
Options:

E4E350398523. 1
E4E35098524. 2
B4535098525. 3



EAE35098526. 4

Question Number : 148 Question Id : 64635025103 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Ut TTHY & YR 1 Uee UPK ITHE S81 T § Fiie
(a) T ShAAAD TIAH! TR BT S S|
(b) TR T ey YRa & RAfhE TRt o Ty € I o R oRft ¥ TS &t
el H i At a1
(¢) URS I 36l § dieivg o1
(d) URE TTHE A 3R SR it wWowel @t At SHqEmIeh @t @l 3t

T4l Iuged e - ;

1. (a), (b), (d)

2. (b)ie)

3. (a), (b), (c)

4. (c), (d)
Options:
64635098527, 1
64635098528, 2
64635095529, 3
64635095530. 4

Question Number : 149 Question 1d : 64635025104 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

U AR 1 el S 8—
1. yofa: ofgEge e
2. HRA @1 vge P REe
3. U Il fdeR
4. guia: Sepd 9 pifad fRAaeR
04635098531, 1

64535098532, 2
6453503958533, 3



EAE35098534. 4

Question Number : 150 Question Id : 64635025105 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
TRt ey & dritana uee sel 9 3u?
1. HRAOH T TR

2. HRAE % T

3. EFTTEO
4. o W
Haid® I0gad faoed 97

1. (a), {(b)and(c)
2. (b),(¢)and (d)
3. (a)and (d)

4.  (a)and (b)

Options:

64535098535, 1
64535038536, 2
64535038537, 2
645350338538, 4



